() THI4~6SHETI 40mYTENMVEBH=24.7m
Rs 36MYIEMIBH=22, 1m
S84 33mYTENAEH=19,5m

" o) RAREE (g%ggj 1~3 )
R
% 6660 1840  BEEIL— “®@% |E& #HE |aE R
%ﬁﬁ\ S (6300 /=4 2 [12816
3 7 IR g 37 AR=2AE—4 1 |4200
~]90 e 9 6 B 18170|@uBESvT20)] 12| 919
39 o i N WE1= h 1| 175
MW [ty
NA S tL o B 1 60
h : o o 19 THIO—+ 90— | 5142|#E@31vRT—vT80)
NN =N
i — 3 o TEASTIEEHAHRE (a0 1 4288
/_ i 5 }‘2 LDk Je=:) 1%| 604
ERR_1(2670) (5725 ° Ny PR (E3T) 1 |se42
3030715910 570 Q. IR EEERRIEEERE RN RN RN OB =] 817
6600 2995 | X 2
(6300) ge55_ (3020)] & — 10 TH(Eaw) 1 [s100
(9320) R % L P BEIL—L 781 4|EUB (TP 1®| 7838
Ty N \\7.0t SHEIZY S 1 555
R E E g I T T T T T T —— gt "j“‘j'f“s" 2 |2000
¥ = OTA—300H TSA1IITHR 1 70
BAEE BOCEER 215m (TvIma) TIAZVIIL—L | 2677 |BUBESYTET)| 1
So—EvRS 31.5m (99—78D wEoL—4 ) |1 (6110
8 & 400V/50Hz [ 440V/60Hz R I 10 16 20, 25 30 3 40 BUB(ESvFRE)| 181058
BE 90.0KW 6P 1/ \—9—fifll (A~6SH:4P) YRR (M) femoL—4 @D [13080{wEoL—2#% | 1 | 1700
—— 'R 30.0KW 4P 1/\v—9—%H ERTER 1 |aa90
:;gi\\x jg ;;/‘_g_ﬁm 44.0m57 EfHE | 5.0t 6.2t 7.7t] 9.6t 12.0t 1) 722
. « UM~/
Py &%:3,5,/7t 1.783,1.250,0.892m, s Ve | 40.0m|35.0m| 30, 0m|25.0m|20.0m ~ 3.0m oL ) | as42 - 1 ]4239
\~ows  E#:7,/11/16% 0.883,0.617,/0.442m/s ae.5myy |EEAE 7.0t] 9.1t[12.0t] 16.0t BUB(55v78%)| 1| 603
= oo 2. 0~16t 2. 233~0. 433m/s . VEerE 35.0m|30.0m| 25.0m|20.0m ~ 3.0m S 1 5y EEENSE 1 |1335
'R 126.0sec B A 10.0t[12.8t] 16.0t B 1 42
0.068rad/s 88.0mYT I nm 30.0m|25.0m|21.0m ~ 3.0m EEEAG 1 |8105
A% |0.003/0.006,/0.008ms[0.003/0.007/0.010m/s 4000 £ LI 1 450
S5 HWETSAIVTHR S 1 350
FatY
BB~TL 95
ZoUE  BEHIREE - ROHREE T XU US U5 e s
BIRIRT— 2 (2134
6660 57 0264 | EEAT— 2 [1584
FwUBSvTen)| 181387
lzsm HEIART— 2 52
8 | = PR )T — 2 360
< =] 1 |3344
g Vi R (5. 5m) 2 |2308
S _ o Q0 MRS | 1 73
)
- | 1 54| FEE(6. Om) 1 [17e2
IS o FOREHRERSE | 1 50
8 AN 44,0mYF: 11420 PRSES (9. Om) 1 1811
f 9.
8 BEUSYRITo 38.6mY7:110160 TEb 1 [1768
m 33.0my7:8900 Z0AMh 1®| 638
S AV N 2 |[3320
B ~ TEREIED t 251RE—4 2 [2920
DI«hTOVT © o140 2 1450
T ERs AUBESvT20)| 1| 860
_ ; | KEILR 1%| 330
g FEOL L el T 25— 4 | 260
g — NALKS EHREET10t % rem 7709 1
~ | erEE 4588 1
- o 30000 | 35000,] 40000, |yrsrzavo 1000 1
oo .2, 2 Vo ‘ - R2NBURH 7| 1080 1
2 ¢ . AE A BEERBREE Tt o
9 I‘_Lmo_’l ¥ 9 g il&lgﬁals@l Iz - E .3 i * SHOSHGERIRTD
. . oo L = = | o o
g: T 3 b o & [__] & B 4 ©
X |
o @ ] m™mB i FIYFAINE PIUFA R
J 2 Vo §8 1= 5] § 1= . g8 MAX6700° MINB0OOOQ MAX5900 MIN4200
g 1/ N _ Y [ #) Kl Bl o ) 4200 9
ggN 7 S bES § E 3 ? { | lii] A | 2600 | | g
gs \ i ABREACRE A BB BRAE 240 (N N
5 A A 173 1800 Jeogl 1800 675 191410 . 2100 2700 S He -
d o 4200 2100 2100 = Lt |
p o 8 A 00 o {
) g -1
e\ | o A%E BER cxl d 1A\ dg
e F 9 o ™)
g = EO @ H QO O
CIECS B o
=5 | G e — o 120 Al »
i - EC I - g =S £
| =
o %Eﬁ g 9 i ]| s [ [ e] g{m ElE E‘i - MEIE 9
oloa || [OE ] A . 9 1: -2 5 1 == elosll67lg  odaz 791608 @
S el el O o i K |y o[l —l ¢ o = 200 200 <
= o S| o J ] E3 % i £l 95y A | 7027.2
w8 || A o i i | | s
- W ol S>+—= 10 B é # %gg [ ] g é'\
SEIS S =] | I oo jjj
S SE E [ ¥ > | 1 ° = . 0.2KW 4PgE#itt 1/50
o | HE | o 3 a — — b FE 60/60Hz 0,48/0.676m/min
S|g| Do N 2= i # [ules Jele] & |G B | e ﬂ@fgjﬁh : 64000
= S m [‘ﬁ 9 4200 & E ’__&m_—‘ [l e ad
(@] Ay ol
N E pis
R R P T LR |98
N (@ o
g 111 b 111 o
| == g@l\ — o , gcgh
= 9 f 0 e peihaly
N 6% n
- [le| ﬁ‘m
TE | 3 g H 147"
[ N o ) IS | o N ] = 7]
e | mbd—g e == B B
) 5 & Il | i T A ; E ;
oo 4] g8 < 45 e i s0 | o
EQ EQ ’8 I I&I €00 0L\
BEROHEE
no | o P - -
|~ 2 )
W b /|\X
29 » /[N 0
~ o Tl LT 2Ll = [
A | .Y I I T 1
5 axa-goxyt I I A ZR—RILE
2 > > J T T S45CH G
O
o e |-45Q-|
O = - 9 [ ] | 9
a w ) @ 93 N OL® S — ]/ \[ — 71l 99 —
% O @ Na | <2z 9 3 9
N O \j 4% Jo | j T << ‘;
/
T |\ N 2ItE—4 / |_ | =
Q Q \J,, 3 3 m (RO 1 1 \ [(
T I\ il 7IUFAUNE6400+ 60005600 U— T I — |
‘ S T g = ===
, PIVFAUNE7000+6600+6200 6400
‘U U PIVFXIIEE200 ¢ . 7000 —a800
| B PUN—AILIE
— O




